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900,0002 * 110ha * 50/100 49,500
MEt S QNS YK TS 21,000 0 21,000
402 RI2EXHE 01 21,000 0 21,000
01 AR 21,000 0 21,000
ONBHRMHE SRS =4 AlH
15,000,000 * 2944 * 70/100 21,000
HoI 25 CHR E A Al 10,500 0 10,500
402 Q1220 10,500 0 10,500
01 QAT =EE 10,500 0 10,500
OZSE SR £4 AH
15,000,000 * 19X * 70/100 10,500
HoMYTAAY 5,000 0 5,000
402 Q220 5,000 0 5,000
01 QAR =R 5,000 0 5,000
OZSMY B4 AlY
10,000,0002! * 194 * 50/100 5,000
S L= S=CISEV[TPNE 14,000 0 14,000
402 Q1220 14,000 0 14,000
01 QI ELE R 14,000 0 14,000
OZACaE ASTHH AlY
0,000,008 * 1X=8t * 70/100 14,000
NESSARLESRIR X EH 21,000 0 21,000
402 QIR0 21,000 0 21,000
01 2AXELE 21,000 0 21,000
ONEGISA NUEADR| BX T4
15,000,000 * 2944 * 70/100 21,000
Ssixe JleNY 494,677 221,076 273,601




M s€lis4dH
M g Jl=oHy

ool SRS Il (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
sgxg 54 8,342 20,231 ~11,889
101 2121t 5,192 1,731 3,461
04 JIVH22HSES 5,192 1,731 3,461
ORSHEZ2Y vy
34,6102 * 521 + 302 5,192
206 WEYI 3,150 3,500 A350
01 T2l 3,150 3,500 A350
OUAMAEE 2% M2 135,002 * 105 1,350
OFSH ASANYT 2% M2
45,0002 + 105 * 43l 1,800
AEy BHSHL R 398,610 35,900 362,710
201 YBr2 ) 3,510 6,500 A2,990
01 AR eIt 2,160 5,000 A2,840
O DIMER EZEI ME 1,208 * 1,80004 2,160
2 TZ2H| 1,350 1,500 A150
CINEETIEV T 1,350
oxsIIMBAN FH KXY
135,008 * 105 1,350
206 W2 393,500 1,900 391,600
01 T2 393,500 1,900 391,600
Ozzel Ma =T EX X
1,0002! * 380,000kg 380,000
OASBAZADLIAY 2Y HRTY
270,008 * 505 13,500
405 XH&HE SHI 1,600 0 1,600
01 RAUSEH S| 1,600 0 1,600
042 T J1J] 7Y 1,600,0008 * 1CH 1,600
TN 2 31,975 164,945 ~132,970
101 @121t 17,305 17,305 0
VIS EDEES =P 17,305 7,305 0
OZFYa 2% o1z
461021 * 201 + 2502 17,305
201 LByl 7,470 12,640 A5,170
01 ARl 2,430 12,640 £10,210
OxFbera S| 2,430
OHIAIH 2l 225,002 * 105 2,250
oxg=IY 45,0009 * 491 180
02 BB 5,040 0 5,040
OFXMHLA Yl Sl 180,008 * 105 1,800
ODT0 YR =32a HYRFY
9002 * 1CH * 24AI2F + 1502 3,240




M s€lis4dH
M g Jl=oHy

el SRS Il (sl @
i _ . rSJEL== -
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
206 TEH| 7,200 8,000 A800
01 M=H| 7,200 8,000 A800
Ox=XHes 22 M 180,000& * 408 7,200
RE2FT 43S AlY 40,000 0 40,000
402 It XHE01H 40,000 0 40,000
01 SIAXGEEXR 40,000 0 40,000
OR82% 423 AY
40,000,000& * 2JH& = 50/100 40,000
EENS ML AlY 15,750 0 15,750
402 DIZHRHE 0| 15,750 0 15,750
01 BIAXGEEXR 15,750 0 15,750
O”Y DAL ST =&
22,500,000& = 1.0ha = 70/100 15,750
HY2LZH(sEXF D) 197,629 212,647 A 15,018
lFRAH (s I=HH) 8,010 18,310 A 10,300
S 2l 8,010 18,310 A 10,300
203 HRF&H| 8,010 9,100 A 1,090
01 JI22FHRF&H| 2,970 3,300 A 330
OJI22Z YR =4I 2,970,000& = 14 2,970
02 HANMMHRF=EHI 1,152 1,360 A 208
OZFAINMHRF&HI 1,152,000& » 14 1,152
04 BhEYYREAY] 3,888 4,440 A552
OsellzHE 2A2Id2ETY|
3,888,000& * 14 3,888
=&l 189,619 194,337 A4,718
ZX& J=4l 173,836 177,800 A 3,964
201 B3| 132,886 133,900 21,014
01 AtE222|Hl 40,306 40,624 A318
Olggr+gyl] 1,700
ORN2Z SHUAL 11,700,000& = 14 11,700
ol2g=+¢] 19,080
ogil+H 40,000 = 112 4,480
O=&xg 40,0003 * 365 14,600
O[=&l] 9,526
ORNR2Y EUN 9,526,002 * 14! 9,526
02 22234l 92,580 93,276 A 696
O[2222 % HAl 56,502
ORERZ 250 = 22,5000H 5,625
OdNse=z 36,000& * oCH * 12& 3,888




2N sgII=HH
Nu: wReAH (SEXNEY)
el JlE3sl 2 HEA)
S HE - S(EH) - NRAY - BES sk oy S 2
Ofl &4 4
o&IIR3 2,790,000& » 123 33,480
Otz 585,000& = 12& 7,020
OsgoagE HEEAMESR
45,0008 ~ 1CH » 128 540
OOIEXtEE= 63,000& * 3CH 189
O&J|etd 2te|lh 360,000& * 123l 4,320
OFIIMH HHEY 242
630,000& * 13 630
OLXRHIBA =2 900,000& * 13 900
Ol¢EHl] 5,658
OHHHI|HZ Y|
9433 = 200 = 8AIZ2F * 1256 » 3oHA 5,658
O[AM&EEBISXIYI] 15,480
O MEHI (SAD], ZSHBA)R XY
360,000 = 9Ch * 23l 6,480
O & A= X Y| 9,000
0=A 1,260,000& * 5= 6,300
oatEA 540,000& * 52 2,700
O[XrzH ety ] 14,850
O Xt&E R Xl 4,050,000& = 2CH 8,100
O &EX CH  1,350,000& * 5CH 6,750
202 O4H| 40,950 43,900 22,950
01 =Wl 26,550 29,500 A2,950
Ol=uhoiI] 26,550
FN2E SUA L 26,550,000 * 14 26,550
02 EAHNHI 14,400 14,400 0
Os8aEAs AN
200,000& = 621 = 12& 14,400
Jl=2s Jl=234l 15,783 16,537 ANT54
201 Yer2g| 11,733 12,087 A304
01 AtE22(Hl 11,733 12,037 A304
Olget==EHl] 6,300
ORN2ZE SHUAHL 6,300,000& = 14! 6,300
olzzI] 5,433
ORN2ZE SUAL 5,433,000& = 14 5,433
202 O4Hl 4,050 4,500 A450
01 =WHOYI 4,050 4,500 A450
O[=2Uodbl] 4,050
ORNEZZE SUI 4,050,000& = 14! 4,050




